Jooooogdn

1 O0O0O0Oooon

0000« 000000000000000000000000

Flw) = / T eitr (1)
1) = % " F(w)etdt 2)

2 O0OoOobooon

00 0,At,2At,--- ,NAODOOODODOO fo = f(0), fi = f(At), -+, fy = f(NAY)DODOODOO
0000000000000000000¢t<00000 f(t)=0000¢t>NAtOOOO f(t)=0
000000000« 0000000000000000000O00OO0DOO00O0OO0

00 A
F(w) = /_ ft)e?¥tdt = /0 o f(t)e “tdt
A

2At NAt

= t f(t)efjwtdt + f(t)efjwtdt + et / f(t)efjwtdt

0 At (N=1)At
At , At , , At : ,
— 7(]‘0 + flefijt) + 7(flefijt + f267]w2At) I T(foleijw(Nil)At + fNefijAt)
At — . At, .
= S hot ALY fae InA 4 = fye N (3)
n=1
000f,=0,fy=000000
N—-1 N
F(w)=AtY  fue 3 = Aty fre™/emat (4)
n=1 n=1
goooood
3 GOo

gooobobb:gggbbbbbbbbbbbbbbddoooooooooooooooo
godbilgobooobooobbodbbuoobboobobuoouobobbuoobbuooobo
0.5000000040d %DDDDDDDDDDDDDDDDDDDDDDDDDD(DiscreteFourier
Transform; DFT) 00000000000

DFTO000O0NDOOOOOOOOODOOOON)OOODODOOND 20000000000
0000000000000 000000000000000000000000OAO0O (Fast Fourier
Transform; FFT) 0O O OO0O0O00O Nlog, NOODOOOOO



